DU MPhil Phd in Philosophy

Topic:- DU_J19_MPHIL_PHIL

1) Which of the following theory focused upon the moral significance of individuals’ capability of
achieving the kind of lives they have reason to value?

fafafaa ® o1 91 Rrgia safeal grR1 shea & 8 ueRl, o= ufa 398 adaia 99 81, &1 Ui
P DI Ggdr & Afad Hewa W Hfga @t 2

[Question ID = 12481]

1. Rawls’ liberal theory of Justice / A P 19 BT fgid [Option ID = 19921]

2. 1. S. Mill's Utilitarianism / fii@ &1 IUdifirararg [Option ID = 19922]

3. Kant’s theory of moral maxim / ®ic &1 Afde AfRT &1 RIgid [Option ID = 19924]
4. Amartya Sen’s Capability theory / 3 94 &1 grvadr Rigld [Option ID = 19923]

Correct Answer :-
. Amartya Sen’s Capability theory / 3 T T Argar Rigid [Option ID = 19923]

2) Which darsana supports the view that particulars are known exclusively by perception and
universals exclusively by inference:

@I ¥ g 59 eI BT TudT Hd § P Ul gRT Saa faviy S oimar 8 3R 3uT §RT Sad
AW Sr=ET ST 8:

[Question ID = 12515]

1. Buddhism / s = [Option ID = 20057]

2. Nyaya / =91 [Option ID = 20058]
3. Vaiéesika / 921f¥& [Option ID = 20059]

4. None of the above / UG & 9 aﬁ's“ :|75°[ [Option ID = 20060]

Correct Answer :-

« Buddhism / s = [Option ID = 20057]

3) Shanti parva of Mahabharata Deals with:
wrifa ud fa=R 341 8: [Question ID = 12503)

1. Duties of a King / ITSiT &1 @<iad [Option ID = 20011]

2. Duties of Elder Brother / 8 YT &1 &<icd [Option ID = 20009]
3. All the above / SWRIg g4t [Option ID = 20012]

4. Duties of a Husband / ufd &1 Fa [Option ID = 20010]

Correct Answer :-
« Duties of a King / ST &1 &xiad [Option ID = 20011]

4) Kant argued that the ontological argument was invalid because

$id A a& fear fF e a W= & FifP [Question ID = 12504]

1. God may not exist / HTd AIS[G gl & ¥ehdl & [Option ID = 20016]
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2. God does not exist / 47T HIS[G 8l & [Option ID = 20013]
3. Existence is a predicate / 3 U fagg t [Option ID = 20014]
4. Existence is not a predicate / 3if&ica & CER RN [Option ID = 20015]

Correct Answer :-
« Existence is not a predicate / &7 T& f39 &} & [Option ID = 20015]

5) That power is not simply repressive but is productive is argued by

Yo Fad SHAPRI T8l 8, Ib IUES §, THS §RT a9 (91 ATAT & [Question ID = 12522]

1. Foucault / eI [Option ID = 20086]
2. Marx / AT [Option ID = 20085]

3. Sartre / T [Option ID = 20088]

4. Bacon / 8@ [Option ID = 20087]

Correct Answer :-
« Foucault / & [Option ID = 20086]

6) Who argued that philosophy should be edifying rather than constructive, representative and
systematic?

fraa ab fear fr o &) s, ufafafy o soafua & sy fRremue #71 1fdu? [Question ID =
12511]

1. Richard Rorty / &g 1T [Option ID = 20042]
2. Kant / &Td [Option ID = 20041]

3. Husserl / §9¢ [Option ID = 20043]

4. Frege / W71 [Option ID = 20044]

Correct Answer :-
« Richard Rorty / FER ﬁ"c’”f[Option ID = 20042]

7) In Plato’s dialogue Parmenides, Zeno argues that

el ¥ Hare WASE #, S d1ad & e

[Question ID = 12486]

1. Objects are both like and unlike each other / =1 T® gﬂji Bl e 3R faudia gt % [Option ID = 19944]
2. the theory of Forms is absurd / BIH Bl ﬁ[?gﬂ?[aﬂ?ﬂ% [Option ID = 19941]

3. the theory of Forms is not absurd / BiH &1 Rigid aﬂ?ﬂ R [Option ID = 19942]

4. Parmenides’ theory is wrong / EFIfl:ﬂ%E?l F1 fRrgid Tad § [Option ID = 19943]

Correct Answer :-
« Objects are both like and unlike each other / =g U gﬂ?a &l e 3R ﬁ'ﬁiﬁﬁﬁ’f% [Option ID =
19944]

8) Aphorism Yogash Citta-Vrtti-Nirodhah belongs to which chapter of Yoga Sutra:
T3 7173y far-gia-favtey: e ure & WafRid §: [Question ID = 12495]

1. Vibhuti Pada / fay{{d-urg [Option ID = 19977]

2. Samadhi Pada / 9HI{Y-UTG [Option ID = 19978]
3. Sadhana Pada / 91Y-I-Ulg [Option ID = 19979]
4, Kaivalya Pada / $deg-UTq [Option ID = 19980]

Correct Answer :-
« Samadhi Pada / HTY-UTE [Option ID = 19978]
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9) Those who hold that there are moral facts, and in the light of these moral facts people’s moral
judgements can be true or false are:

S 1 AT € P AR 9w €, ok 37 & wT=r ¥ @it & Afere ol W ok e g1 wa €, a8:
[Question ID = 12518]

1. Moral relativists / Afae Tdeard! g [Option ID = 20072]
2. Moral realists and relativists / Afae gurdard} iR Tuearc) 8 [Option ID = 20071]

3. Error theorists / If¢ RIGid®R & [Option ID = 20069]
4. Moral realists / Aifce Turfarel g [Option ID = 20070]

Correct Answer :-
+ Moral realists / Afd® gurfard} § [Option ID = 20070]

10) In Carvaka philosophy, Moksha is associated with —
aTaie § Yo I ---F SIIST T 8| [Question ID = 12485]

1. Artha / 3{df [Option ID = 19940]

2. Dharma /4¥ [Option ID = 19937]
3. Kama / ®TH [Option ID = 19938]
4. Death / H [Option ID = 19939]

Correct Answer :-
» Death / Hg [Option ID = 19939]

11) Space according to Kant refers to

®id & AR Sfafver defifa Hvar 8: [Question ID = 12509]

1. a relation between objects / a1l & &l TP Fa&e [Option ID = 20034]

2. a self subsistent reality / T& 3TEMHR R [Option ID = 20033]

3. a subjective condition of sensibility / Fdg-=iddT &1 T Afaaure fRfd [Option ID = 20036]
4. an empirical concept / U AHJHdu-H AR [Option ID = 20035]

Correct Answer :-

+ a subjective condition of sensibility / Tag-=Nedl ®t U fdaurs fRufd [Option ID = 20036]

12) Friedrich Nietzsche viewed ‘Master morality’ as

pefte I 7 aRex Afawar &) fF9 =u & @1 [Question ID = 12508]

1. None of the above / SWRigd # 9 El?l'ar’ ol [Option ID = 20032]

2. Christian morality / 8T8 Afd@dT [Option ID = 20031]

3. Life denying morality / Afdepar & FHRA aTel Sfia [Option ID = 20030]
4. An affirmation of life / Sifd T Ufas [Option ID = 20029]

Correct Answer :-
« An affirmation of life / Sita= &1 WA [Option ID = 20029]

13) The actuality for Aristotle is prior to potentiality in the following manner

IR F IGUR arafadwar FafafEd afie & &war ¥ ugd € [Question ID = 12516]

1. All of the above / SWRIad gt [Option ID = 20064]
2. In substance / 9arf # [Option ID = 20063]

3. In time / G99 T [Option ID = 20062]

4. In account / fdaxur # [Option ID = 20061]

Correct Answer :-
« All of the above / SURIad G4t [Option ID = 20064]
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14) The rational capacities for Aristotle are those that bring about

3R] & e aHwd &rwar A & o fAafef@d ufvomd @ @ [Question ID = 12496]

1. All of the above / 3URiad §HT [Option ID = 19984]

2. Two-way consequences / G- &I GfRUITH [Option ID = 19983]
3. No consequences / H’ﬁ'ﬁcqﬁﬂﬂﬂﬂ‘ﬁﬂ’ [Option ID = 19981]

4. One-way consequences / Tdh- fozm ufkomy [Option ID = 19982]

Correct Answer :-
« Two-way consequences / &l- f¢21m gfums [Option ID = 19983]

15) The Form of the Good for Plato is:
wel & o "wid 3% T8": [Question ID = 12510]

1. the ultimate object of knowledge / STOdfded & HIHH J FHZT S Ybdl & [Option ID = 20038]
2. to be approached through Dialectic / &1 FTH UTWd &A1 H1dH 2 [Option ID = 20037]

3. hard to obtain knowledge of / I @1 3ifdH g% & [Option ID = 20039]

4. all of the above / JURIad THT [Option ID = 20040]

Correct Answer :-
« all of the above / IWRIad Tt [Option ID = 20040]

16) The author of A System of Logicis
"¢ e w 3w difoTe” & 9@ &: [Question ID = 12494]

1. Gottlob Frege / Tiie@rd Ul [Option ID = 19974]

2. Bertrand Russell / §¢8 T8 [Option ID = 19973]

3. John Stuart Mill / SIF ¢3¢ f&a [Option ID = 19975]

4. Alfred North Whitehead / 3/&Fs A1 @gcas [Option ID = 19976]

Correct Answer :-
« John Stuart Mill / Sii-1 I3 f&d [Option ID = 19975]

17) A'maxim’in Kant's philosophy is

$ic & 24 A ‘AfRIH’ [Question ID = 12498]

1. An example of an imperfect duty / T& Ffequf wxicd & [Option ID = 19991]

2. An example of a relative duty / Td erlHP Fa % [Option ID = 19992]

3. An action guiding principle / T% &dod &1 G- aTal fIGid & [Option ID = 19989]
4. An example of a perfect duty / T Jfexfed Ficd § [Option ID = 19990]

Correct Answer :-
« An action guiding principle / T& $<icd P a=1T= aTel RIgid & [Option ID = 19989]

18) ‘'Hinduism is inimical to equality, antagonistic to liberty and opposed to fraternity’is stated
by:

Tg v &aT [ 'fa=g & vwmar &7 fAviell, wdzar &t afavie! siv dged & f3udla 82 [Question ID =
12512]

1. M. K. Gandhi / TH. &. TiTeft [Option ID = 20045]

2. M. N. Roy / UH. TH. 319 [Option ID = 20048]

3. B. R. Ambedkar / &1. 3R. 3{fd8H [Option ID = 20047]
4. E. V. R. Periyar / 3. d. 3fR. 9%GR [Option ID = 20046]

Correct Answer :-
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« B. R. Ambedkar / 1. 3RR. 3i§g®R [Option ID = 20047]

19) — (X o Y) is equivalent to which of the following?
— (X o Y) Frafafaa # & {59 TH®e 8: [Question ID = 12487]

1. Y o X [Option ID = 19945]
2.Y & - X [Option ID = 19948]
3. X & - Y [Option ID = 19947]
4. X v Y [Option ID = 19946]

Correct Answer :-
e X &-Y [Option ID = 19947]

20) Truths of fact according to Leibniz are:
TSI & IR T4 & T : [Question ID = 12482]

1. Necessary truths / 3G T & [Option ID = 19925]

2. None of the above / SWRIad H ¥ $Is gl [Option ID = 19928]

3. Truths whose opposite is possible / a1 T g fS5-& fqudid THa ® [Option ID = 19926]
4. Not contingent truths / 3Af3d T gt & [Option ID = 19927]

Correct Answer :-
« Truths whose opposite is possible / @ T & 5% fdudtd THa g [Option ID = 19926]

21) If Xis true, Y is false and Z is true, then which of the following is false?

gfd X T 7, Y 30 ¢ 3R 2 U g, @ Frafif@a § @ 919 91 39« & [Question ID = 12477]

1. (X2 Y) = Z [Option ID = 19906]
2. (X2 Y) o Z [Option ID = 19905]
3. (XvY)vZ[Option ID = 19907]

4. (X vY) & Z [Option ID = 19908]

Correct Answer :-
e (X2Y)=Z[Option ID = 19906]

22) The equivalent formula of (x)Gx is which of the following:

(x)Gx BT THqed g7 fAafaf@d & & 8 [Question ID = 12497]

1. —( 3x) — (Gx) [Option ID = 19988]
2. (3 x) — (Gx) [Option ID = 19987]
3. —(x) — Gx [Option ID = 19986]

4. (x) — Gx [Option ID = 19985]

Correct Answer :-
e —( 3x) — (Gx) [Option ID = 19988]

23) Frege took arithmetical truths to be
B A oty o &t Fufefaa & | &1 a9d @ [Question ID = 12500]

1. Analytic / fd¥d9UTHS ¥ [Option ID = 19997]

2. Synthetic a priori / Rfdfew writend g [Option ID = 20000]
3. A posteriori / U & TYTd I [Option ID = 19999]

4. Synthetic / fHdfes g [Option ID = 19998]

Correct Answer :-
« Analytic / fOXeNUTES T [Option ID = 19997]
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24) The essence of a thing for Aristotle in his Metaphysics is
deaHiAaT 9y # 3R F fore forw oft 9w &1 aR fFafefad 8 [Question ID = 12478]

1. What a thing is because it is a compound of things / &1 U Hﬂﬂﬂm g [Option ID = 19910]

2. What a thing is because God desires it that way / Fifp W 39 39 e ¥ digd B [Option ID = 19911]
3. What a thing is in the world of pure forms / Y& =4l Pl Eﬁ-’lﬂ? @I A 8 [Option ID = 19912]

4. What a thing is in its own right / &3 TIel Sl 39 39 & § [Option ID = 19909]

Correct Answer :-
« What a thing is in its own right / @18 ol Sif 3= 314 H § [Option ID = 19909]

25) ‘sad-darsana’includes:

"Wggxi-’ # UG &: [Question ID = 12505]

1. All of the above / IWRiad H ¥ ¥4 [Option ID = 20020]

2. Sarmkhya, Yoga, Nyaya, Vaisesika, Mimamsa, Vedanta | I, TRT, <19, I9f%es, HiHT, 3 [Option ID =
20017]

3. Carvaka, Yoga, Jainism, Mimamsa, Samkhya, Buddhism / araies, TRT, Si=eH, Hiwrar, s, sig 9o [Option
ID = 20019]

4. Buddhism, Jainism, Nydya, Carvaka, Vedanta, Yoga | Vg Y S=eH, =a1g =mafes, dad [Option ID =
20018]

Correct Answer :-
« Samkhya, Yoga, Nydya, Vaisesika, Mimamsa, Vedanta | |&, 9T, <O, 9, Hiaid, da [Option
ID = 20017]

26) “"We must accept probabilities rather than absolute facts, for ethics is not like geometry or
physics.” To who is this statement attributed?

gl FARUE T B IO WUTEAISH B PR AT g1, Fife ifq wa st an vifesfas= #t
aYE T8l 81" U8 HU fHTBT 82 [Question ID = 12479]

1. Bentham / S=IH [Option ID = 19915]
2. Mill / e [Option ID = 19914]

3. Kant / &T¢ [Option ID = 19913]

4. Aristotle / 3RR¥J [Option ID = 19916]

Correct Answer :-
« Aristotle / 3R] [Option ID = 19916]

27) “Each nation has its own centre of happiness within itself, just as every sphere has its centre
of gravity.” To who is this statement attributed?

TS &7 F [FATHYY & F% Pt ave, TS AP F W € S & &1 H% g1 817 I8 FY fFaa
22 [Question ID = 12521]

1. Herder / 83 [Option ID = 20082]
2. Mill / T [Option ID = 20083]

3. Kant / &T¢ [Option ID = 20081]
4. Locke / dl& [Option ID = 20084]

Correct Answer :-
« Herder / €8 [Option ID = 20082]

28) Deconstruction as a technique for uncovering the multiple interpretation of texts is
developed by
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T F 98 ARSI P IWNR FIA & o T dad-1o & ¥U # famveq (Sowawm) fFud gri fasfya
forar 4T 8 [Question ID = 12480]

1. Jaspers / epeepei [Option ID = 19920]
2. Sartre / 9 [Option ID = 19919]
3. Derrida / sieT [Option ID = 19918]
4. Hegel / 871 [Option ID = 19917]

Correct Answer :-
« Derrida / AR [Option ID = 19918]

29) '“.x & Y" and ﬂ.x “. Y.ﬂ‘ are
"X & Y” 3R “X v Y” &: [Question ID = 12519]

1. Consistent with each other / T &R & W14 WITd [Option ID = 20073]

2. Inconsistent with each other / T gax & H1Y 3HTd [Option ID = 20074]

3. Contradictory with each other / T& &R & H1Y AT [Option ID = 20075]
4. Equivalent to each other / U c;%l:i & HHJY [Option ID = 20076]

Correct Answer :-
« Consistent with each other / T X & ¥4 H71d [Option ID = 20073]

30) For Heidegger, the study of human being as Dasein is -
BSSTR & forg, 3T (Dasein) & U H HHG &7 34U &

[Question ID = 12501]

1. hypothetical inquiry / HIHd i [Option ID = 20004]
2. nomological inquiry / AHifed Sid [Option ID = 20003]

3. ontic inquiry / #ifes S [Option ID = 20002]

4. ontological inquiry / 3ffeidiferdd ofid [Option ID = 20001]

Correct Answer :-
« ontological inquiry / 3ficldifeiedl Siid [Option ID = 20001]

31) Hilary Putnam’s view regarding meaning is that

et vesa &1 31 & IR H =BT § [Question ID = 12523]

1. None of the above / STIRIGd & ¥ PIs gl [Option ID = 20092]
2. It is not in the head / I8 RR & =781 & [Option ID = 20089]

3. It does not involve role of experts / ST faRIwFI @1 YW IMAA &1 & [Option ID = 20090]
4. It is an idea in the head / 98 RR ¥ ©& fd@R g [Option ID = 20091]

Correct Answer :-
e Itis notin the head / 8 RR ¥ 781 % [Option ID = 20089]

32) The following constraint, for all wil, w2, if wilRw2, then w2Rwlis ___ .
It w1, w2 & fog, afe wiRw2 8, 3R w2Rwl 8, U8 ____ 3(@RIY/¥d & [Question ID = 12507]

1. Reflexivity / Ufdfdadr [Option ID = 20025]
2. Transitivity / HepTrdm [Option ID = 20027]
3. Symmetry / ¥H=UdI [Option ID = 20026]
4. Extendability / fa&dRdT [Option ID = 20028]

Correct Answer :-
e Symmetry / 9HEUAT [Option ID = 20026]
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33) Which of the following statements is incorrect with reference to Mill’s view on sanctions:

yfaeel R g & faar & deu o @ & 19 91 99 e 8: [Question ID = 12488]

1. Education teaches us the right feelings for humanity. / fRrem g4 wHadr o forg gel HigHTr Rt gl [Option
ID = 19951]
2. The motive for observance of sanctions is attached to utilitarian morality as powerfully as it is in any other

morality. / GfAEt &7 OTa- B &1 I 3T Afdddl BI g STARIArard! Afded § off 3¢t ufda | ge1
§3MT 8 [Option ID = 19950]

3. External sanctions are more effective as they work both through peer pressure and divine reprimand. /
I3t ufdey 3ifee wHIdt B1d € Hifs 3 SIFf UghH! gard 3R Sdid e R & S U &M $Hd & | [Option ID
= 19952]

4. Moral feelings are not innate but acquired. / Afde® HIIATY SFHGITT el dfedp 3fford & [Option ID = 19949]

Correct Answer :-
» External sanctions are more effective as they work both through peer pressure and divine reprimand. /

a8t ufasy 31f¥es guTdt 81d & ifd 9 Sl GedhHI aId 3R ¢ad BedhR & S I HH Hd & | [Option
ID = 19952]

34) Which of the schools of Indian Philosophy are considered as a part of anvikshiki
(philosophy) by Kautilya?

Pifeed 7 URdT g3 & 5 wpal & HAdHEPT ST UIT H812 [Question ID = 12493]

1. Nyaya, Viseshika,Vedanta, samkhya / <01, d9f¥e, dgid, A [Option ID = 19972]
2. Samkhya, Vedanta and Mimamsa / 9i&, d<id, HIH™ET [Option ID = 19971]

3. Lokayata, Ajivikas and Buddhism / @eTad, 3iToiides, dlg &=9 [Option ID = 19970]
4. Samkhya, Yoga and Lokayata / §R&d, TR, @HRId [Option ID = 19969]

Correct Answer :-
. Samkhya, Yoga and Lokayata / 9R&d, g, Sl 1ad [Option ID = 19969]

35) The modal system Kpot is known as:

Hisd WUl Kpor ____ gl STdT 81 [Question ID = 12520]

1. S2 [Option ID = 20077]
2. S3 [Option ID = 20078]
3. S5 [Option ID = 20080]
4. 54 [Option ID = 20079]

Correct Answer :-
« S5 [Option ID = 20080]

36) According to Deleuze and Guattari philosophy is all about:
ST (Deleuze) 3R TN (Guattari) ¥ IR I &1 Adad & [Question ID = 12490]

1. Creating concepts / &IHWHEG:IFIT [Option ID = 19960]
2. Communication / FdT [Option ID = 19959]

3. Reflection / qraAT [Option ID = 19957]

4. Contemplation / EGE [Option ID = 19958]

Correct Answer :-
« Creating concepts / 3{d¥ 0TS §HT [Option ID = 19960]

37) According to Quine, the two dogmas of empiricism are

P19 & IR, ATHIAE F &I RISid & [Question ID = 12524]
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1. impressions and ideas / UHId (@TZF-I) 3R TR (ﬁﬁm} [Option ID = 20093]

2. analytic synthetic distinction and reductionism / Q;Ii!ﬁiéﬁ-w (Ridfesw) g Gh?q\:lﬂﬁﬁ [Option ID =
20094]

3. functionalism and analysis / foramefierar ik faweyor [Option ID = 20096]

4. reductionism and functionalism / <JAddlg 3R frareitear [Option ID = 20095]

Correct Answer :-
« analytic synthetic distinction and reductionism / Q=H|31|Eﬂ§ B GINED {ﬁfﬂﬁﬁ) Yo 3R <Jdldlqg [Option ID
= 20094]

38) According to Hume, Ideas
89H & R f49R: [Question ID = 12489]

1. Are faint and bland images of the impression in thinking and reasoning. / T AR dF H TH0 P gﬂ?ﬁ
3R I sfaai €1 [Option ID = 19956]

2. Are perceptions that affect the mind with the most force and violence / 3t YRUME S 19 BT Ty 3 ad
3R fdar § wuifad &=t € [Option ID = 19954]

3. Are known for their vividness, clarity and distinctness / P P! fa=rgdr, wydr 3R faf¥ryar & fere s
SITdT & [Option ID = 19953]

4. Include sensations, passions and emotions / 2 Haq'ﬂfi, ol 3R Yra=me a8t 8 [Option ID = 19955]

Correct Answer :-

« Are faint and bland images of the impression in thinking and reasoning. / f&ia iR d& # TwHRur Bt
tjeci 3R g ©fagi g1 [Option ID = 19956]

39) According to the Tractatus pictorial relationship is
ATHdIed (Tractatus) & AR T F&¢ (pictorial relation) 8 [Question ID = 12491]

1. The possibility of connection among the elements of a picture / T I & gl o dd a8 HI GHIGAT
[Option ID = 19964]

2. The relation between the respective standpoints of the picture and reality / for SR arafasar & &l
=fPHI0 & s & [Option ID = 19961]

3. The correlations of the elements of a picture with objects / aXI3{ & T1Y TS oz & 3fayd] &1 Tguay
[Option ID = 19962]

4. The connection among the elements of a picture / T fF & 3/agal & &g FaY [Option ID = 19963]

Correct Answer :-

+ The correlations of the elements of a picture with objects / G¥I3{i & Ty U o & 3faydl &1 gday
[Option ID = 19962]

40) According to Eliminative Materialism Folk Psychology can be reduced to

ufafiAfes ifaware ¥ R a1 w=ifas &) Fafafaa 3 & fFad sgarn o J@a1 & [Question ID =
12513]

1. Completed neuroscience / Q;Uf dfeT fagm [Option ID = 20050]

2. None of the above / SWRIad H d Eﬁl’ﬁ 8! [Option ID = 20052]

3. Propositions about completed neuroscience / qﬂfﬂﬁﬁ a3 & IR § U [Option ID = 20049]
4. Propositions about incomplete neuroscience / G{EIUT dfeT fagE & aR | U [Option ID = 20051]

Correct Answer :-
« Completed neuroscience / Quf @1 fasi [Option ID = 20050]

41) According to Identity theory a brain state and a mental state are
ITESRE uiy F IUR, AfGTss srawT 3R AR fRURY 81t ® [Question ID = 12499]

1. Necessarily identical with each other / T& GR & I1y Ff3d ¥9 ¥ A [Option ID = 19993]
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2. Probably identical with each other / SHdd: T GER & HIY JHM [Option ID = 19994]
3. Contingently identical with each other / 3@ ¥4 ¥ U gEX & 1Y JHM [Option ID = 19995]
4. Improbably identical with each other / Td GaR & H1Y fhH! diidb ¥ HH [Option ID = 19996]

Correct Answer :-
« Contingently identical with each other / 3TH®® =0 ¥ TP guR & WY FHH [Option ID = 19995]

42) According to Russell, ‘The man in the green shirt’ is an example of

A & IR 'q¢ Afad 9l 831 S U1 8’ [Question ID = 12476]

1. A definite description / T fAf3d gufq 8 [Option ID = 19904]

2. An indefinite description / e fAf3d 9uiF & [Option ID = 19901]
3. A positive description / Tdh JhRIHD quiq § [Option ID = 19903]
4. A vague description / Us 3y gufq § [Option ID = 19902]

Correct Answer :-
« A definite description / Ts fAf&/d guf= 8 [Option ID = 19904]

43) According to Philosophical Investigations ostensive definitions can be disambiguated
grRifA® 3=AWUT (Philosophical Investigations) 3Y & 3R UGRI® WEIUT (ostensive definition) $1
rgparaf & [Question ID = 12517]

1. only through their usage / ¥ad I9% IUGIT V & g1 S abdll 8| [Option ID = 20067]

2. only by further ostensions / Sdd 3ifaiked UGRHT ¥ BRI S Heball 2| [Option ID = 20065]

3. only by verbal explanations / Sad Wfead TPIHU GRT & 8T ST Yl g| [Option ID = 20066]

4. only with reference to a private image / $ad U fAuit Ufa=u § g germ ST ¥ebdT 8| [Option ID = 20068]

Correct Answer :-
« only through their usage / %ad 3 IYART ¥ &) AT & Yevdl 8| [Option ID = 20067]

44) According to Philosophical Investigations
gRif4® =AW (Philosophical Investigations) 7Y & 3[HR [Question ID = 12506]

1. Every word has a fixed number of alternative meanings / 8 leq ¥ dopfeus 3HYf o s [fdd @ gidt %
[Option ID = 20021]

2. Each word is incomplete and indeterminate in its meaning / TP e BT Y &fq:ﬂf 3R AT B [Option
ID = 20023]

3. Each word has an indefinite number of alternative meanings / Td® sg H dofeus 31 ot aifafa T
gIci 8 [Option ID = 20022]

4. Each word signifies only a particular / U@ Weq drad fpd! fa=iy &1 g1l 8 [Option ID = 20024]

Correct Answer :-

« Each word is incomplete and indeterminate in its meaning / TP TMeq P 34 &rthT 3R fAfEa %‘
[Option ID = 20023]

45) According to Leibniz the relation between mind and body occurs through

forafes ¥ AR ¥4 3R IR F " &1 Y a1 @ [Question ID = 12502]

1. a relation of identity / 31fH@dT ¥ [Option ID = 20007]

2. parallelism / FHMFIARAT ¥ [Option ID = 20006]

3. causal interaction / BRUT 3R ST & &g TR fohar ¥ [Option ID = 20005]

4. concord between efficient causes and final causes / T HRUN 3R a7 HRUN & i Tgafd ¥ [Option
ID = 20008]

Correct Answer :-
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» concord between efficient causes and final causes / $RIdl HRON 3R 3Hfdd HRUN & ot Teald 4
[Option ID = 20008]

46) According to Tagore, our real problem in India is:

TR & 3MUR, YRd H §HAR] a<afd® THWT 8: [Question ID = 12514]

1. Spiritual / 31T [Option ID = 20056]
2. Political / NEEIRES [Option ID = 20053]
3. Social / TP [Option ID = 20055]

4. Economical / e [Option ID = 20054]

Correct Answer :-
« Social / g [Option ID = 20055]

47) For Heidegger, death-anxiety can lead to -
BISS'R & fore, yag-feian % PHRUT 8 TP @ - [Question ID = 12492]

1. nausea / dH- [Option ID = 19967]

2. stress / d-Td [Option ID = 19968]

3. inauthenticity / TR [Option ID = 19966]

4. transcendence from average everydayness / 3d AR § ORI [Option ID = 19965]

Correct Answer :-
« transcendence from average everydayness / 3 d ATRT § IRTHA [Option ID = 19965]

48) For Heidegger, the human being is
BT8R & forU, ST & [Question ID = 12483]

1. an individual consciousness / Tdh T SRE) [Option ID = 19929]

2. being-with-others / gﬂﬁ & 1Y 81 & HId [Option ID = 19930]

3. not influenced by past experiences / IPEL] GH'J-IE:T g yHIfad =gl [Option ID = 19931]

4. not influenced by future projections / yidw & &Hﬂ]:ﬁ § guifad =gt [Option ID = 19932]

Correct Answer :-
« being-with-others / GERI & |4 g1 & ATd [Option ID = 19930]

49) Saul Kripke takes truths like Morning Star = Evening Star to be

i fpuss "\ T ©R = gaf R oRil 9=gdl &) 9 99d §
[Question ID = 12484]

1. A priori truths / feHT 3Hd & 3IYR W [Option ID = 19934]
2. Contingent a priori truths / f&AT 3Ha & 3R FFAfEddr & YR W [Option ID = 19935]
3. Necessary a posteriori truths / 3Hd & ULTd =4 T U B TR [Option ID = 19936]

4. True by virtue of meaning / 3{4f & 3TYR TR [Option ID = 19933]

Correct Answer :-
+ Necessary a posteriori truths / 3 Hd & UHTd wfaamd ¥ U H+ U [Option ID = 19936]

50) By Rfain Indian philosophy is meant
YR 219 # d 82 [Question ID = 12475]

1. Neither Cosmic Order nor Moral Order / &1 H ¥ &I gl [Option ID = 19900]

2. Cosmic Order and Moral Order / gl fay g, Afae sara [Option ID = 19899]
3. Cosmic Order / fa% sga=1 [Option ID = 19897]

4. Moral Order / Afae et [Option ID = 19898]
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Correct Answer :-
« Cosmic Order and Moral Order / i fay soawyT, Afd® sa=T [Option ID = 19899]
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